#1/bin/bash
# *** CALCULATOR *** #1
# #4
# /re_check 2005/11/8 By
#
p=$
|f[$# -It 2]; then
p— 'i_p main_menu_""
printf "¥0" > /dev/ttySl #clr
pr|ntf "¥20" > /dev/ttyS1 #for test LED on
printf "¥1¥00" > /dev/ttyS1 # pos(0,0)
printf ** *** CALCULATOR ***" > /dev/ttyS1
a=$(./re_check 15 0 199 1) # 15 0 199
=$(/re_check 1 List: ¥+ ¥- x ¥/ ¥/ ) # List 1
c=$(./re_check 2 1199 1) # 2 1 199

sh=$(./re_check 1 List: s sh shi shif shift _KEY ¥#1 is _Key shift shif shi sh)

val_sh=$(echo ""$sh* Iawk {print $1})
disp_sh= $(echo '$sh*'jawk {print $2}'|sed -e 's/ / /¢’)
val_a=$(echo "$a" Iawk {print $1})
disp_ a—$(echo ‘$a’jawk {pnnt $2}\sed -e 's/ / /9")
val_b=$(echo "$b" Iawk {print $1})
disp_b= $(echo '$b""jawk {print $2}'ised -e 's/ / /¢’)
val_c=$(echo "$c"jawk {print $1})
disp_c=$(echo "$c"lawk {print $2}'lsed -e 's/ / /g
n=0 #0a,1b,2c/RePos cyclic

while :;;do
printf "¥3¥00" > /dev/ttyS1 # 3gyoume

case $(($val b)) in
printf "$disp_a $disp_b $d|sp c=">/dev/ttyS1

printf *%d¥n" $(($va| a+ $va|  ¢)) > /dev/ttyS1;
printf "$disp_a $disp_b $d|sp c=">/dev/ttyS1

printf *%d¥n" $(($va| a- $va|  ¢)) > /dev/ttyS1;
printf "$disp_a $disp_b $d|sp c=">/dev/ttyS1

printf "%5d¥n™ $(($val_a * $va| c)) > /dev/ttyS1;
if [ $disp b ="/"1], then #

disp_b=""¥xfd"

1)
2)
3)
4)

fi
printf "$disp_a $disp_b $disp_c = ** > /dev/ttyS1
printf "%2d .."" $(($val_a / $val_c)) > /dev/ttyS1
printf "%3d¥n™ $(($val_a % $val_c)) > /dev/ttyS1;
5 ) printf "$disp_a $disp_b $disp_.c = ** > /dev/ttyS1
printf $(echo "'scale=5; $val a / $val_c "'} bc)"¥n" > /dev/ttyS1;

esac
printf "¥4¥00" > /dev/ttyS1 # 4gyoume
printf "$disp_.sh " > /dev/ttyS1
printf "¥4¥220K" > /dev/ttyS1 # 4gyoume ¥22(=18desimal)
printf "¥20" > /dev/ttyS1 #for test LED on
while :;;do
case "$(./onebyone_S1)™ in #
N™ ) n=$(($n + 1)) #button 1 RE Pos shift
if [$n -gt 3], thenn=0#0123
fi # key
printf "¥21" > /dev/ttyS1 #for test LED off
case $n in #
0) sh=$(./re_check "$sh" -R) # re

c=$(./re_check "$c" -R) #

disp_c=$(echo "$c"jawk {print $2}'|sed -e 's/ / /¢')
1) 5=$(./re check "$a" -R)

sh=$(./re_check "$sh" -R 1)

disp_sh=$(echo "$sh*lawk {pnnt $2}\sed -e 's// /9")

2) b=$(/re_check "$b" -R)

a=$(./re_check "$a" -R) #
a=$(/re_check "$a" -R 88) #
val_a=$(echo "$a'"jawk {print $1}') # ( )

disp_a=$(echo "$a"jawk ‘{print $2}'|sed -e 's/ / /¢')
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3) E=$(./re_check "$c" -R)
b=$(./re_check "$h" -R)
disp_b=$(echo "'$b"jawk ‘{print $2}'|sed -e 's/ / /¢')

esac

G") break 2 ;, #button 4
") continue ;; # break

*) # RE
case $nin
0) sh=$(./re_check ' $sh )
disp_sh= $(echo '$sh*'jawk ‘{print $2}'|sed -e 's/ / /¢’)
val_sh=$(echo "$sh"jawk '{print $1}),,
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1) a=$(./re_check "$a")
disp_a=$(echo "$a"jawk ‘{print $2}'ised -e 's/ / /¢')
val_a=$(echo "$a"jawk {print $1}');;

2 ) b=$%(/re_check "$b")

disp_b=$(echo "$b"jawk ‘{print $2}'|sed -e 's/ / /¢')
val b=$(echo "$b""jawk {print $1}')

3) c=$(./re_check "$c")
disp_c=$(echo "$c""jawk {print $2}'|sed -e 's/ / /¢')
val_c=$(echo "$c"jawk ‘{print $1})

"

"

esac
break ;;
esac
while :;;do
case "$(./onebyone_S1)" in #
"0O") break 2 ;; #
) break 2 ;;
*) continue ;; #
esac
done
done
done
pp=3(./$p $2)
echo "$pp"
exit
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